vzp = {1, O, 0}; vzO = {0, 1, 0}, vzm= {0, O, 1},
Lz =h {{1, 0, 0}, {O, O, 0}, {O, O, -1}}; Lz // Matri xForm

h O O
00 O
0 O -h

Lx =h/Sqgrt [2] {{0, 1, O}, {1, O, 1}, {O, 1, 0}}; Lx // Matri xForm

oﬁi:r o

Ly =h/Sgrt [2]/1 {{O, 1, O}, {-1, O, 13}, {0, -1, O}};
Ly // Matri xForm

o -_-ib 0
2
dh 0 _dh
2 2
0 Lh 0
2
L2 = Lx.Lx +Ly.Ly +Lz.Lz; L2 // MatrixForm
2h2 0 0
0 2h2 0
0 0 2h?
Lz.vzp
(h, 0, 0}
Lz.vzO
{0, 0, 0}
Lz.vzm
{0, 0, -h}

Ei gensyst em[Lx]

{{o, _h, h}, {{—1, 0, 11, {1, -2, 1}, {1, 2, 1}}}
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VXPp. vZp
1

2
vx0. vzp
1

\2

vxm vzp
1

2
VXP. VZm
1

2
vX0. vzm
1

\ﬁf
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vxmvzm
1

2

Lx. vXxp == hvxp

Tr ue

LXx.vxm == -hvxm

Tr ue

Lx. vx0 = 0vx0

Tr ue

Lx.Ly -Ly.Lx == 1 hlLz
Tr ue



